VIIL._The Mole (Chapter 6)

1. Calculate the number of moles in:

a) 80. grams of zinc, Zn. %zﬁ —> wde 2~

B0 gt x CERS, 12 e - Lz wede 20|

(-S4 \8Zn

b) .58 grams of lead, Pb. 6’% —> puste vy

O'%‘}?L’ , Jwde b | oaore\ﬁq wdle b io o oyA wokt?l;j

20'4 z "\75
c) 3.47 x 10” grams of vanadmm V. %\/ — ple V

3,4?{x\&% x ;;ﬁf’(\[ ’(_p%/&;{'xkb e \ = l(_, 8\%\0 w.o\z_j

2. Calculate the number of atoms in:
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3. Calculate the number of atoms in: :
a) 7.8 x 10* grams of bromine, Br. R~ witle Be
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b) 4.5 % 107 grams of krypton, Kr \car-——wwe_\gr -
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4. Calculate the number of grams in:
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5. Calculate the number of :
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moles of methane in 4. 7 X 1027 molecules of methane, CHa. pdeculess Qg —> usles C,lrh
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atoms of O in .00517 grams of glucose, CsH20s. Qb(.\m() - jasle Qg O, = wWde> = e O
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f) atoms of H in 5.6 x 10* moles of sucrose, C1;Hy,01;. e €, )\
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6. Calculate the number of: (Note- CuCOs is an ionic compound, so we do not refer to molecules
of CuCO3. Instead, you can refer to a “formula unit” of CuCOs.)
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b) moles of Cu in 47.3 grams of CuCOs. %Cuw?,“‘" wole w’a —= utes G
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